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,,ri,,, OR
-i".a. Develop A- search algorithm for Al'apPlications. (10 Marks)

b. Explaifi'problem characteristics *., {ft-respect to heuristiqe,$bdlth. (10 Marks)

_ ."ry 
-..r."\ Module-2 "" 
:;.

a. Explain the four approagffiknowledge represeti+Ation. * '^": (10 Marks)

b. Discuss the following Eg'!.!of sentences into."}V.FF in predicate logic and hence find the

answer with proof f-or the question whetheftdii''I{arcus is loyah,,@aesar or not.
i) Marcus was a man. , d r

ii) Marcus wqs p.Pompeian.
iii) All Pompeian's were Romans. h
iv) Caesarwds a ruler. ",& ."*u'*" @
v) All.Romans were either loyal"ffi" Caesar or hatedhiftr.
vi) E$b-ryone is loyal to soffi{p , '="'

vii) Piopie only try to as-saEs.ffiafle rulers they are r$t loyal to.
viii)S(arcus tried to ass*s$glte Caesar. - -q

ril,,ilf ^'mans 
are'*-:,:"0,..1,,9 - 

^lS 

" (10 Marks)

,,:l=,. '... OR
a. Write Find Sffidrithm and discussW$tles with the algorithm. (10 Marks)
b. Describe tlre$aiaate EliminatioYll ilgorithm. Find the maximum general hypothesis and

maximum sp$tific hypothesis Sr ihe training examples given in the table using candidate

can you get exactl
i) Write down
ii) Write an).,,p.|,,p SSlution to the above ptqhl$ (12 Marks)

limination alson thm.
Day skv Air Tefiii"' Humiditv Wind Water Forecast Enioy Sport

I Sunnv Warrh*1 j Normal Strons Warm Same Yes

2 Sunny Walfn Hish Strong Warm Same Yes

J Rainy *,Gold Hish Strons Warm Chanse No
4 Sunny.''t "Warm Hieh Strong Warm Change Yes

..,rr- ,,,,,,,,,,::: , .

::::,,:::,lll'iilrr'

18C571USN llllllllll\.^,T
{ll,ffih a

Seventh Semester B.E. Degree Examl,ffiiltion, Dec.2023 I Jan.2O24
'\. '

Artificial lntelligence,#$frF "Machine Learn_ing
,i. '$q w'' 

-_-.-..:::, 'r'

,*.
Time: 3 hrs' .,_',,:=..,., ,{\i Max' Marks: 100

U"'+'." ,wrffi
Note: Answer any FIVE full quesgiy4{i,'ihoosing ONE full qWuWf*m each module.

-q 
"- Module,l*n :i,, Jt.I a. Define Artificial IntelligefrggfMhat are the applicatio..gffiArtificial Intelligence? (08 Marks)

b. A water jug problem st& Wou are provided witffio-iugs, first one with 4-gallon capacity
and the second one wit&Sigallon capacity. Neitherta"ie any measuring markers on it. How

I of2

(10 Marks)
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Module-3 .'.1..,,,S'.

5 a. Define decision tree. Construct the decisionglqffito represent the following Boolean

functions: .h
i) A n lB ii) A v [B n C] ;iiffiXOn n (06 Marks)

b. Write the ID3 algorithm. ; . " (08 Marks)

c. What do you mean by gain and entroffitj{tw it is used to build the $ecision tree? 1oo Marks)

-', 'tq a.-
*fo. H on s-,*&.*

6 a. Define artificial neural netw,e*ff&mbiscover what are the dlipiopriate problems for neural

network. '= t .l. -. (06 Marks)

b. Define perceptron. Explafqgh- ioncept of single perc-effin with neat diagram. (06 Marks)

c. Explain the back propl;ffilgorithm with examgte- , (08 Marks)
1fl8ft4:1 ,,;,,.to

r $h- Modu
a. What is Baye'sffiq*rdn and maximumpos
b. Derive an eqgt!-ori#or MAP hypothesis u$b. Derive an eqptl,or&Sor MAP hypothesis ufrEBaye's theorem. (05 Marks)

c. Consider a:fooiball game between two,rivll teams: Team - A and Team - B. Suppose

Team -&#$ 95% of the time ard feam - B wins the remaining matches. Among the

games iii.orilby Team - A only 3004ffithem come from pl+#&g on Team - B's football field.games iil.o;*6y Team - A only 3o'fffithem come from pl+#&g on Team - B's football field.
On tfiE==&er hand, 75Yo of the viL*ryibs for Team - B are oBtained while playing at home. If
Team - B is to host the next putlth between the. tyt, teams which team -will most likely
emerge as the winner? .*rffin$A * ; (10 Marks)

,*;:U".- -u,..FW 
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E$n,"+ oR 4%' +: d,
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a. Discuss the Naive Bay6a's classifier. ffe-;i .* ***" (10 Marks)
L r\:-^--^^ nr:.^:*..-,'r.]r^^^..i-+i^- l^-^+L --:-;3:&ii5lB :- L;^f .,r 'i: /'to Nitavtzs\b. Discuss Minimu&kescription lengtt

.,':-*J",, .-*1o', \l
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thesis? (05 Marks)
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a. Explain I(-nedrest neighbor leary$g ii'lporithm. .:.:-,,.:J* (10 Marks)

b. Define;=,.i,tkSimple Error ,.*ii)ffS.i.r" Error. #m.,.'.' (04 Marks)

c. What is reinforcement leaming?, (06 Marks)

ithm.

c. Whati'S.,*rlinforcement learn-ifigluil (06 Marks)

"" ' :! ::::: Qf,f;;j::1=rg
: i,ii nB i.

a. ":.ffplai1 locally weiqfuFd;lihear regression@t t (10 Marks)

b@afine expected "ffi*ce standar$deViation and estimate bias of a random variable.
.*+,,i .16 (05 Marks)

c. Explain a-l:W with examp,";., * (05 Marks)
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